PHYS 2170
General Physics 3 for Majors

Fall 2021

Lecture 31

The Schrodinger equation

November 8



Argue for the/Schrédinger equation which governs quantum waves.
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Solve the Schrédinger equation in a box of length L by making an
intuitive argument.
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Solve the Schrédinger equation in a box of length L by solving the

differential equations directly. -t
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E Normalize the allowed quantum states in the box
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@ In a_guantum dot of length L =~ 4 nm sits an electron of mass
m =~ 1073% kg. What is the longest W@f)lig%lt it might absorb?
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